
6149 6149.5 6150 6150.5 6151
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

0

0.5

1

1.5

2

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

6398

6398.5

6399

6399.5

6400

6400.5

6401

6401.5

6402

ru
n

run:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

211−

210.5−

210−

209.5−

209−

us
l_

1X

usl_1X:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

1.5

2

2.5

3

3.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

177

177.2

177.4

177.6

177.8

178

178.2

178.4

178.6

178.8

179

179.2

us
l_

4e
X

usl_4eX:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

30.5

31

31.5

32

32.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

69−

68.5−

68−

67.5−

67−

us
l_

12
X

usl_12X:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

6398

6398.5

6399

6399.5

6400

6400.5

6401

6401.5

6402

ru
n

run:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

287−

286.5−

286−

285.5−

285−us
r_

1X

usr_1X:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

5.5

6

6.5

7

7.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

372

372.2

372.4

372.6

372.8

373

373.2

373.4

373.6

373.8

374

374.2

us
r_

4e
X

usr_4eX:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

25.2

25.4

25.6

25.8

26

26.2

26.4

26.6

26.8

27

27.2

27.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

76−

75.5−

75−

74.5−

74−

us
r_

12
X

usr_12X:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

6398

6398.5

6399

6399.5

6400

6400.5

6401

6401.5

6402

ru
n

run:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

27770.6

27770.8

27771

27771.2

27771.4

27771.6

27771.8

27772

27772.2

27772.4

27772.6

27772.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

5620.5

5621

5621.5

5622

5622.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

7244.5

7245

7245.5

7246

7246.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

1058.4−

1058.2−

1058−

1057.8−

1057.6−

1057.4−

1057.2−

1057−

1056.8−

1056.6−

1056.4−

1056.2−

us
l_

co
il6

usl_coil6:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

27138.5

27139

27139.5

27140

27140.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

6398

6398.5

6399

6399.5

6400

6400.5

6401

6401.5

6402

ru
n

run:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

27526.5−

27526−

27525.5−

27525−

27524.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

5368−

5367.5−

5367−

5366.5−

5366−

us
r_

co
il3

usr_coil3:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

7402.5

7403

7403.5

7404

7404.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

438.5−

438−

437.5−

437−

436.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

32825.2

32825.4

32825.6

32825.8

32826

32826.2

32826.4

32826.6

32826.8

32827

32827.2

32827.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

6398

6398.5

6399

6399.5

6400

6400.5

6401

6401.5

6402

ru
n

run:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

454−

453.5−

453−

452.5−

452−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

76−

75.5−

75−

74.5−

74−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

34.5

35

35.5

36

36.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

469−

468.5−

468−

467.5−

467−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

89.5−

89−

88.5−

88−

87.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

25.6

25.8

26

26.2

26.4

26.6

26.8

27

27.2

27.4

27.6

27.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

176

176.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

55

55.5

56

56.5

57

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

186.5

187

187.5

188

188.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

7−

6.5−

6−

5.5−

5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6400}



6149 6149.5 6150 6150.5 6151
cyclenum

234.5−

234−

233.5−

233−

232.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

81.5−

81−

80.5−

80−

79.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

1.5−

1−

0.5−

0

0.5

12
X

_c
oi
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12X_coil4:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6400}

6149 6149.5 6150 6150.5 6151
cyclenum

443−

442.5−
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441.5−

441−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6400}
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cyclenum

6398

6398.5

6399

6399.5

6400

6400.5

6401

6401.5

6402

ru
n

run:cyclenum {run == 6400}
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